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The US Economy

          The US economy shed another 131,000 jobs in July, the second month in a row that jobs have been lost. According to the government the private sector created 71,000 jobs. However, both figures were worse than expected. Despite, the overall fall in job numbers, the unemployment rate was unchanged at 9.5%.

          Many analysts are concerned that high unemployment is undermining the US economic recovery. The job losses sent the US stocks sharply lower, with the Dow Jones index falling more than 1% in early trading. They also hit the European markets with shares in London, Paris and Frankfurt ending the day down between 0.6% and 1.3%.

          In June, 225,000 census workers left employment. And, it was the first month job across the whole economy had been lost on a month-on-month basis since October last year. Although the impact of the census explains the job losses, the July figures will fuel fears that the US economy is struggling to recover, particularly as the monthly jobs report is one of the most closely-watched economic indicators in the US.

          This is because private sector hiring remains weak. Manufacturing employment increased by 36,000, healthcare by 27,000 and mining by 7,000. To Bart van Ark, from the Conference Board, the modest gain in private sector jobs confirm that the economy remains on a slow growth path, and it is going to be a long haul to rev up the jobs machine. And, the current pace of employment is too slow to replace the more than eight million jobs lost in the recession – not in the next year or two, perhaps even not in the next five years.

          Figures released last week showed that US economic growth had slowed between April and June. The housing market has also slowed in the past two months. But the US government insisted that the economy was not at risk of falling back into recession.

                                                                                                  (BBC News – Business, 6th August,2010)

1. According to the text

a) The unemployment rate increased 9.5% last year.

b) The European stock markets have not been affected by the US recession.

c) The unemployment has not affected the US economy.

d) The US economy still remains on a very slow growth.

e) The job losses have not hit the US monetary unit.

2. The text supports the following statements EXCEPT

a) The July figures show that the US economy is struggling to recover.

b) The US private sector hiring still remains weak.

c) The job losses have also affected the stock markets.

d) The loss of about eight million jobs in the recession will not be replaced very soon.

e) The creation of 71,000 jobs were far beyond the US government expectations.

3. One of the most closely-watched economic indicators in the Us is

a) The private sector.

b) The monthly jobs report.

c) The slow growth.

d) The latest figures.

e) The stock market.

4. The connector “Despite”, line 03, could be replaced by

a) Moreover.

b) Thus.

c) In spite of.

d) While.

e) Beyond.

5. The best short answer for the question “Has the housing market slowed in the last two months?” is

a) No, it doesn’t.

b) Yes, it has.

c) No, it haven’t.

d) Yes, they have.

e) No, it didn’t.

6. The noun “gain”, line 16, could be replaced by

a) Increase.

b) Loss.

c) Impact.

d) Get.

e) Report.

7. The pronoun “They”, line 07, refers to

a) Shares.

b) Job losses.

c) European markets.

d) Analysts.

e) Economic recovery.

8. The best word order to complete the sentence  “The stock market ____________________,  _________________, ____________________” is

a) has changed   -  in the European market  - intensively.

b) intensively  - in the European market  - has changed.

c) intensively  - has changed  - in the European market.

d) has changed - intensively-  in the European market.

e) in the European market  - intensively  - has changed.

9. An antonym for the word “losses”, line 11, is

a) Growth.

b) Fall.

c) Numbers.

d) Decrease.

e) Index.

10. According to the US government 

a) There is no risk for another economic recession.

b) The economy is not growing.

c) The private sector hasn’t created new jobs.

d) The economy is not being recovered.

e) There is a great risk for another economic recession.










